We have captured voltage waveforms across both resistor with external trigger mode, using trigger source as step pin. 
½ step with 8 number of steps, 
First 8 steps (motor movement observed)
 [image: C:\Users\Justin\Desktop\ALL0001\F0001TEK.BMP]  
Next 8 steps (motor movement observed)
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[bookmark: _GoBack]Next 8 steps (zoomed in) (motor movement observed)
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Now main problem is when we are trying half step with 1 number of step.
First single half step (motor movement observed)
[image: C:\Users\Justin\Desktop\SINGLE HALF STEP _SPARE\ALL0005\F0005TEK.BMP] 
Second single half step (we couldn’t see any motor movement) 
[image: C:\Users\Justin\Desktop\SINGLE HALF STEP _SPARE\ALL0007\F0007TEK.BMP] 
Third single half step (motor movement observed)
[image: C:\Users\Justin\Desktop\SINGLE HALF STEP _SPARE\ALL0006\F0006TEK.BMP] 
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